Chapter 15 Solutions

1.
After 1972, the currency spot markets went from a fixed to a flexible exchange rate regime, thereby allowing for price volatility in these markets. This price volatility in the currency markets created a need for currency futures.

2.
For any two countries the difference in the rates of must be equal to the forward exchange differential. i.e,
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where Rf and Rj are the interest rates in countries i and j

Fij,t is the forward rate for currencies i and j 

Sij,t is the spot rate for currencies i and j
3.
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Fij,t = 121.68/$
4.
Yes, IBM can sell T-bond futures contracts immediately. If interest rates go up, they will have to pay a higher interest rate level when they issue the bonds, but they can buy back the futures contracts at a lower price thereby reducing the cost of using the bonds. Likewise, it interest rates fall, they can issue the bonds at a higher price but they will have to buy back the futures contracts at a higher price thereby offsetting some of the lower interest costs. In effect, they can lock in today's interest rate by hedging in that in three months time, they don't have to worry about the interest rate risk.
 5.
Speculators agree to accept the risk the hedger wants to transfer for a return. The Speculation adds liquidity to the futures markets and allows the forces of hedger supply and demand to adjust more rapidly.
6.
(1 + Ym)(1 + Yf,m)1/n = (1 + Yn),
Let Yn = 90 days T-bill, Y90 = (100 − 96.50)/100 = 3.5%
Ym = 60 days T-bill, Y60 = (100 – 97.75)/100 = 2.25%

Yf,m = 30 days T-bill future, Yf,30 = (100 − 98.50)/100 = 1.50%
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1.0187 – 1 = Yn
1.87%    = Yn
Arbitrage opportunity

I.
Sell 60 day T-bill and 30 day T-bill future 
II.
Invest money in 90 day T-bill 
III.
Earn 3.5% − 1.87% = 1.63% as arbitrage profit

7.
Sell Stock Index: Futures today to lock in (hedge) the value of his stock portfolios.

Conditions are:
1.
no dividend payment,
2.
interest rates are nonstochastic,

3.
no transaction costs,

4.
futures price (Index) track the value of his portfolio perfectly.

8.
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9.
A dollar denominated bank deposit held outside of the U.S. Regulation of banking In the U.S. has costs which reduce the amount of interest that can be paid to investors Eurodollars do not face these regulations, hence the investor in Eurodollars receives a higher return. The cost for bankers doing business in the Euromarkets is lower than doing business in the U.S. market, hence banks can generate higher profits (because of lack of regulatory costs) in the Euromarket, Both banks and depositors do better in the Euromarket.

10.
Typically, a bank lends long and borrows short. This gap is profit able if the yield curve is upward sloping and does not change. However, if the yield curve shifts upward or becomes downward sloping, the bank will lose money. Therefore, that would want to hedge against changes in short term rates by going long in Eurodollar futures.
11.
long hedge - means buying the futures contract at time zero with the intention of selling it at some future point in time.
short hedge - means selling the futures contract at time with the intention of buying it at some future point in time .
Long hedge is used if you expect to take delivery (buy) of the underlying asset at some future point in time.

Short hedge is used if you currently own the underlying asset and expect to sell it at some future point in time.
12.
a) sell futures contract

b) 112,500/37,500 = 3 contracts

c) cash coffee

t < 0   l12.500lbs. @ $1.34/lb.
= $150,750

1 July 112,5001b. @ $l.50/lb.
= $ 168,750
net gain $18,000
d) t = 0  112,5001b. @ $l.34lb. = 5150,750 
1 July 112,5001b. @ $1.20/lb. = $135,000 
net loss = $ −15,750

e)       Cash Coffee                        Futures Coffee

t = 0  112,5001b. @ $1.34/1b. =


Sell 3 contracts at 
= $150,750                       $1.34/1b. × 37,500 = $150,750
(i) Price goes up;

1 July 112,5001b. @ $1.50/lb. 

Buy 3 contracts at

= $168,750 

$1.50/lb. × 37.500 = $168,750

→ gain $18,000

→ loss $18,000

net gain Ø
i i) price goes down

1 July 112,5001b. @ $1.20/lb.

Buy 3 contracts at

= $135,000  

$1.20/lb. × 37,500 = $135,000

→loss $15,750

→gain $15,750

net gain Ø
13.
a) Pfu = Pm/Pm = P273/P91 = 95.125/98.875 = .9621

1.00 − 96.21 = 3.79 (quarterly yield for the futures)


3.79 × 360/91 = 14.99 (annually yield)

Pfu = 100 − 14.99 = 85.01 (theoretical futures price)

b) .006 × 360/91 = .0237

Pfu = 85.01 − .0237 = 84.986
_1381561324.unknown

_1381562164.unknown

_1384064134.unknown

_1381561351.unknown

_1381561234.unknown

